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1.Tv ovoudletar e€icmwon);
(pov.10)

2.Na Moete 116 eE16M0ELS:
0.3X—5—X=4X-5
B.2—(3x—5)-(-1)—x=-3+2x

y.2x =3[ 2x—(3x~1) | =-2

6.2X_1=§
3 2

3(x-1 -

. (x-1) 5x 3_1, 4
2 4 2

(nov.2x5=10)
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2.0.3X-5—-X=4x-5b <
X—-X-4x=-5+5<

2X=0&
-2Xx 0
— =
-2 -2
Xx=0

Eiuaorte toyepoi mov gipaocte ddokalol

AITANTHXEIX

B.2—(3x—-5)-(-1)-x=-3+2x =
2—(-3x+5)-x=-3+2x <=
2+3X—-5-x=-3+2Xx
X—X—-2X=-3-2+5<

0x =0 tavtoOTTo/0dplo

2x -3 2x—(3x-1) | =2 <
2x—3-(2x-3x+1)=2 <

2x-3-(-x+1l)=2<
2X+3X—-3=-2<

5x=-2+3 <
x=1<
5_x_1

5 5

1
X ==
3)

6.2X_1=§

3 2
2(2x—1):3x<:>
I -2 =3Xx &
I -3Xx =2 &
X=2

1.Ké0¢e 160t t0, mov mepiéyel Evav ayvmoto apduod X, ovoudletol
eElomon.
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Eiuaorte toyepoi mov gipaocte ddokalol

2 4
3X2_ 3_X=3_ g 1o EKILQ4)=4

4

4.3x 3_4.5x 3:4.5_4.&3

2 4 2
2-(3x-3)-(5x-3)=2x-4 =
6X—-6-5x+3=2Xx-4 <
6X —5X-2X=-4-3+6 <
—X=-1
x=1
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